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A0 —
e o
E*(1-x)
TESTER
Tester 0.7 TESTER
Tester 1.1
Tester Tester 0.00741 Tester
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Time parameter Conversion Conversion Error Error

- 1.00 0% 0.00% 0 0.0294254
60.00 0.97 26% 21.80% 0.0016012
120.00 0.94 41% 37.10% 0.0018484
180.00 0.91 52% 45.30% 0.0042808
240.00 0.88 59% 54.30% 0.0025215
300.00 0.86 65% 61.90% 0.0009233
360.00 0.83 69% 68.50% 6.566E-05
420.00 0.80 73% 75.20% 0.0005722
480.00 0.78 76% 79.90% 0.0017904
540.00 0.76 78% 82.00% 0.0015596
600.00 0.73 80% 86.00% 0.0035232
660.00 0.71 82% 88.70% 0.0047779
720.00 0.69 83% 91.00% 0.0059613
780.00 0.67 85% 92.80% 0.0067544
840.00 0.65 86% 94.30% 0.0073475
900.00 0.63 87% 95.40% 0.0074904
960.00 0.61 88% 96.40% 0.0076511
1,020.00 0.59 88% 97.20% 0.0076254
1,080.00 0.57 89% 97.80% 0.0073915
1,140.00 0.55 90% 98.20% 0.006941
1,200.00 0.54 90% 100.00% 0.0090728
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